BIOLOGY PAPER I (THEORY)
PARTI (20 Marks)

Answer all guestions.
Chuestion 1
2l  Give one significant diffesence between each of the following:
(i}  Imgplantation and Parturition
(i} Actve ahsorption and passive absorprion.
(i) Haemodialysis end Peritoneal dialysis.
(ivy  Simple fit end Aggregate fruit.
{v) Anricles and Ventricles
ib}  Explain what would happen if:
(i}  Excess ferilizers ame added to soil.
(ii} Blood clots in the coronay siery.
(i) Beta cells in the islets of langerhans are damaged.
(iv)  Silicon emulsion is applied over the sorface of leaves.
{v) Magnesinm element is deficient in the soil
icl  Each of the following questions / statements have four sogzested snswers. Rewrite the
cofrect answes in each case:
(i}  The cell division in the manica resion of shoot apex is:
(A) Periclinal
(B) Horizontal
(€)  Ansiclinal
(D) Radial
() The dark coloured dead wood present in the central rezion of old trees is:
(A) Spring wood
(B) Hea wood
{C)  Sap wood
(D)  Cambinm
() Dworfism sccompandied with mental retardation is doe to hypo-secretion of:
(A) Growth hommone
{B) Thyroxine hormons
{C) Parathormone

(D) Adsenalin homons]
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Choygen is released in photosyndwesis b
(A) Photophosphorylation

{B) Photolysis of water

(C) Photomespiration

(I} Photons

The spinal meve is:

(&) A mixed nerve

(B) A sensody nerve

(T A moior nerve

(D} A crandal necve

The cells of the areolar tissue which produce heparin are:

(&) Fibmooytes
{B) Mastcells

C) Macrophages
(D)} Chondrincytes

Mention the most significant fonction of the following:

(i)
(&)
(i1}
(iv)
()

(wi}

(i}

(&)

(vl

Semi circola canals
Bowmans capsule
Parenchyma

Les haemoglobin
Guoard cells

Alveoli

the best lnown contribution of:
Iiunch

Bomnald Ross
Ilarshall Hall
Huxdey

Expand the following :

(i}
()
(idd)
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PART IT (50 Marks)
SECTION A
Answer amy Hiree gquestions.

Oestion 2
{a) Give fouwr differences berween roof apex and shoof apex.
(:1] Explain the development of the different types of endospenms in angiospeams.
i) Explain brisfly:

[E] Capillary water

(i)  Oisrmosis

(fii} Aeroponics

Cestion 3

(a) Explain the s cycle of photosynihesis.

(b State thres advantazes and three disadvantazes of vesstative reproduction.

() Mention one role and one deficiency symptom of the following elements in plan:

TNTi o
i} Phosphoms
{ii} TIron

(i) Chlorine

Chestion 4
{a)  What are fropic hormones? Describe the feedback control of wopic hormones with an
example.

b}  Explain the conduction of nerve impolse through a nerve fiboe.
(e}  Draw alabelled diagram of the T.5. of bone.

Chestion 5
(a) Explain the mole of panereas in digestion of vanows food materials.
(b} Eriefly describe the stages in clotting of blood.
{ch Diefine:
(i) Feparative fegeneratiomn
(@) Capaciration
(z} Menasrchy

Chaestion &

(a) Smare four differences between franspirafiion and guffaiion.
b} Give an accownt of the secretory phase of menstroal corle.
(c) Drefine:

ik Radial vascular bandle
(i) Rigormois
(i} Fuoot pressooe
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SECTIONEB
Amswer army fve guesfions.

Chaestion 7

(a}

Drifferentiamn berween apes and man with respect to the following characieristes:
TEN] Posire

(#y  Crandum

(i} Brow rnidges

{iv) Locomotion

(:1] D Fique:
[EN] “estigeal organs
(£ W ariarioas
(i) MNeo-Drareinism
i) Give three differences berween Nanural Selecrion and 4rjficial Selection.
Qaestion 3
(4l State four characteristics of the Cromagnon man.
b Explain the basic posmlates of Derwinism.
ey Archasopteryx is a cormecting link betwesn reptiles and birds. Tustify the statement
vy giving fwo characteristics of each group.
Caestion 9
{a) Pearzons syffering_ from GOPD deficiency are resiztant fo malaria. Explain
bk D fine:
[EN] Genetic Erosion
(i}  Bicinsecocides
(ii) Ansigen
(iv) Psychosis
i) Define Bigforrjffcanon.
Chestion 10
{a) List the activities of Commundty Health Services.
(b} Give thres eady diagnostic svmpioms of cancer.
() Drefine:
(i} Coarmdng capaciny
(i} Implant

i) Carcinoma

[4]

[3]

[3]

[4]
[3]
[3]

[4]
[4]

[4]
[3]
[3]



